V1

V2

[> el:=cos(sin(x))"*2;
diff (el,x);

el = cos(sin(x))2
-2 cos(sin(x)) sin(sin(x)) cos(x)

> e2:=((x*241)2)~(1/3) ;
e3:=diff (e2,x);
plot([e2,e3],x);

e2 = ((x2 + 1)2)”3
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e3 =

> ed:=exp (x) *sin (2*x) ;
int(e4,x);

e4 = ¢"sin(2 x)

2 1
-3 ¢ cos(2x) + 5 ¢"sin(2x)

> int(int (sqrt (4*x*2-y~2) ,y=0..x) ,x=0..1);

Warning, unable to determine if -2*x is between 0 and x; try
Lo use assumptions or use the AllSolutions option
Warning, unable to determine if 2*x is between 0 and x; try

to use assumptions or use the AllSolutions option
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;> with (LinearAlgebra) :
> A:=Matrix([[1,1,1],[a,a"2,a"3],[b,b"2,b"3]]);

2 3

b b b

=> factor (Determinant (4)) ;

—ab(b—1)(-1+a) (a—0>b)

L1

@.1)

22

@3.1)

32)

> A:=Matrix([[2,—l,1], [_1727117 [11172]]);
2 -11

A=|-1 21
1 12
> 1,vV:=Eigenvectors (3) ;
3 -1 1 -1
LV=|3] 10 -1
0 01 1
> vl:=Column(V,1);
1[1].v1;
A.vl;
-1
vi=| 1
0
-3
3
0
-3
3
0
[T

4
;> restart;
> eql:={x-2*y=-1,2*x-5*y=-sqrt(6) };
eql = {x—2y: -1,2x—5y= —\/?}
sl:=solve(eql, {x,y})’
sl={x=-5+2/6,y=-2+/6}
> eq2:=simplify (subs (sl, (2-abs(x))/abs(y)));
eq2 = 7_3 +2 \/?
-2+.6

> expand (denom(eq2) * (2+sqrt(6))) ;
2

> expand (numer (eq2) * (2+sqrt(6))) ;

6+6

V"

|> restart;
[> £:=unapply (1/8*x*2,x) ;
g:=unapply (-x*2+3*a*x-2*a*2,x) ;
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f::xﬁ%xz
g::x—>—x2+3ax—2a2 (6.1) 2 A
[> sl:=solve (f (x)=g(x),x);
4 4
sl = 3 a, 3 a 6.2)
> £(s1[1]);
2
2 6.3)
> aa:=unapply (diff (£ (x),x),x);
1
aa = x— i 6.4)
> eq2:=expand (subs (x0=s1[1],aa (x0) * (x-x0) +£ (x0) ) ) ;
B
eq2 : Fax—ga (6.5)
[> h:=unapply (eq2,x) ;
b2
h=x— 3 ax 5 a (6.6)
> a:=2;
a=2 (6.7)
> plot([£(x),g(x) h(x)],x=0..5);
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